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Multiple Choice Questions

Electronic configuration of H+ is1.

1s
0

A.

1s1B.

1s2C.

1s1, 2s1D.

Answer

From the given sets of quantum numbers, the one that is inconsistent with the theory is2.

n =3; l =2; m = -3; s = +12A.

n = 4; l = 3; m = 3; s = +12B.

n = 2; l = 1; m = 0; s = -12C.

n = 4; l = 3; m = 2; s = +12D.

Answer

Pick out the isoelectronic structures from the following3.

CH3+I  H3O+II  NH3III  CH3-IV

I and IIA.

I and IVB.

I and IIIC.

II, III and IVD.
Answer

Which of the following species is paramagnetic?4.

CN-A.

NOB.

O22-C.

COD.

Answer

XeF4 has a shape of5.

sphericalA.

trigonal bipyramidalB.

square planarC.

tetrahedralD.

Answer
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1f 20 mL of 0.4 N NaOH solution completely neutralises 40 mL of a dibasic acid, the molarity of6.

the acid solution is

0.1 MA.

0.2 MB.

0.3 MC.

0.4 MD.

Answer

Molality of a solution is equal to7.

number of moles of solutenumber of litres of solutionA.

number of g-equivalents of solutenumber of litres of solutionB.

number of moles of solutenumber of kilogram of solventC.

number of moles of a componenttotal number of moles of all componentsD.

Answer

In the following particle8.

3Li6 + ? → 2He4 + 1H3

the missing particle is

electronA.

neutronB.

protonC.

deuteronD.
Answer

Consider  the  two  gaseous  equilibria  involving  SO2  and  the  corresponding  equilibrium constants9.

at 298 K

SO2 (g) + 12O2 (g) ⇌ SO3 (g); K1

2SO3 (g) ⇌ 2SO2 (g) + O2 (g); K2

The values of the equilibrium constants are related by

K2 = K1A.

K2 = K12B.

K2 = 1K12C.

K2 = 1K1D.

Answer

For the reaction,10.

A + B ⇌ C + D,

the initial  concentrations  of  A  and B are  equal.  The equilibrium concentration of  C  is  two times

the equilibrium concentration of A. The equilibrium constant is

4A.

14B.
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9C.

19D.
Answer

The pOH of a solution is 6.0. Its pH will be11.

6A.

8B.

0C.

14D.

Answer

Solubility products of Al(OH)3 and Zn(OH)2 are 8.5 × 10-23 and 1.8 × 10-4 respectively. If both Al3+12.

and Zn2+ ions are present in a solution, which one will be precipitated first on addition of NH4OH?

Al(OH)3A.

Zn(OH)2B.

Both (a) and (b)C.

None of theseD.

Answer

In a reversible isothermal process, the change in internal energy is13.

zero A.

positiveB.

negativeC.

None of theseD.

Answer

Based on the following thermochemical equations14.

H2O (g) + C(s) → CO (g) + H2 (g); ∆H = 131 kJ

CO (g) + 12 O2(g) → CO2 (g); ∆H = -282 kJ

H2 (g) + 12O2 (g) → H2O (g); ∆H =-242 kJ

C (s) + O2 (g) → CO2 (g); ∆H = X kJ

the value of X will be

-393 kJA.

-655 kJB.

+393 kJC.

+655 kJD.
Answer

The sky looks blue due to15.

dispersion effectA.

reflectionB.

transmissionC.
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scatteringD.

Answer

The first ionisation potential of Na, Mg, Al and Si are in the order16.

Na < Mg > Al < SiA.

Na > Mg > Al > SiB.

Na < Mg < Al > SiC.

Na > Mg > Al < SiD.

Answer

Elements of which group form anions most readily?17.

Oxygen groupA.

Nitrogen groupB.

HalogensC.

Alkali metalsD.

Answer

Which of the following is paramagnetic?18.

[Ni(CO)4]2+A.

[Co(NH3)6]2+B.

[Ni(CN)4]2-C.

[NiCl4]2-D.

Answer

Which of the following elements is present in red blood cells of man?19.

FeA.

RaB.

CoC.

None of theseD.

Answer

The weakest acid among the following is20.

CH3COOHA.

CH2ClCOOHB.

CHCl2COOHC.

CCl3COOHD.

Answer

The  IE  of  hydrogen  atom  is  13.6  eV.  The  energy  required  to  remove  an  electron  in  the  n  =  221.

state of the hydrogen atom is

27.2 eVA.

13.6 eVB.

6.8 eVC.

3.4 eVD.
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Answer

When conc. H2SO4 comes in contact with sugar, it becomes black due to 22.

hydrolysisA.

hydrationB.

decolourisationC.

dehydrationD.

Answer

The complex [Co(ONO)(NH3)5]SO4 is named as23.

nitropentamminecobalt (III) sulphateA.

nitropentamminecobalt (II) sulphateB.

nitritopentamminecobalt (III) sulphateC.

pentamminenitritocobalt (III) sulphateD.

Answer

Prussian blue is formed when24.

ferrous sulphate reacts with FeCl3A.

ferric sulphate reacts with K4[Fe(CN)6]B.

ferrous ammonium sulphate reacts with FeCl3C.

ammonium sulphate reacts with FeCl3D.

Answer

IUPAC name of the following compound is25.

2-cyclohexylbutaneA.

2-phenylbutaneB.

3-cyclohexylbutaneC.

3-phenylbutaneD.

Answer

Which are isomers?26.

Methanol and methoxymethaneA.

Ethanol and ethoxyethaneB.

Propionic acid and ethyl acetateC.

Propionaldehyde and acetoneD.

Answer

The compound X(C5H8) reacts with ammoniacal AgNO3 to give a white precipitate and reacts with27.

excess of KMnO4 to give the acid, (CH3)2CH-COOH. Therefore, X is

CH2 = CH - CH = CH- CH3A.

CH3(CH2)2C ≡ CHB.

(CH3)2CH.C ≡ CHC.

(CH3)2C = C = CH2D.

Answer
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Benedict solution provides28.

Ag+A.

Li+B.

Cu2+C.

Ba2+D.

Answer

If we mix a pentavalent impurity in a crystal lattice of Ge, what type of semiconductor formation29.

will occur?

p-typeA.

n-typeB.

Both (a) and (b)C.

None of theseD.

Answer

The number of Na+ ions filling all octahedral voids in NaCl structure is30.

6A.

12B.

13C.

14D.

Answer

The decay  constant  of  a  radioactive  sample  is  λ.  The  half-life  and mean life  of  the  sample  are,31.

respectively

1λ; ln 2λA.

ln 2λ; 1λB.

λ ln 2; 1λC.

λln 2; 1λD.

Answer

Which of the following is a first order reaction?32.

NH4NO2 →N2 + 2H2OA.

2HI → H2 + I2B.

2NO2 → 2NO + O2C.

2NO + O2 → 2NO2D.

Answer

In the reaction of A + 2B → C + 2D, the initial rate = -d[A]dt att = 0 wasfound to be 2.6 × 10-2 M33.

s-1. What is the value of -d[B]dt at t = 0 in Ms-1 ?

2.6 × 10-2A.

5.2 × 10-2B.

1.0 × 10-1C.
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6.5 × 10-3D.

Answer

Copper  sulphate  solution  is  electrolysed  using  copper  electrode.  The  reaction  taking  place  at34.

anode is

H+ + e- → HA.

SO42- (aq) → SO4 + 2e-B.

Cu2+ + 2e-  → CuC.

Cu (s) → Cu2+ (aq) + 2e-D.

Answer

How many cc of oxygen will be liberated by 2 A current flowing for 3 min 13 s through acidulated35.

water?

11.2 ccA.

33.6 ccB.

44.8 ccC.

22.4 ccD.

Answer

Which of the following will have the highest coagulating power for As2S3 colloid?36.

PO43-A.

SO42-B.

Al3+C.

Na+D.

Answer

Adsorption is multilayer in the case of37.

physical adsorptionA.

chemisorptionB.

Both (a) and (b)C.

None of the aboveD.

Answer

In blast furnace, iron oxide is reduced by38.

silicaA.

COB.

CC.

limestoneD.

Answer

In  electrorefining  of  metal,  the  impure  metal  is  made  the  anode  and  a  strip  of  pure  metal  the39.

cathode  during  the  electrolysis  of  an  aqueous  solution  of  a  complex  metal  salt.  This  method

cannot be used for refining of

silverA.
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copperB.

aluminiumC.

zincD.

Answer

Hypochlorous acid is40.

HOClA.

HClO2B.

HClO3C.

HClO4D.

Answer

Which  of  the  following  radicals  will  not  be  precipitated  by  passing  H2S  in  concentrated  acid41.

solution?

CopperA.

AntimonyB.

ArsenicC.

CadmiumD.

Answer

In which of the following solvents, AgBr will have the highest solubility?42.

10-3 M NaBrA.

10-3  M NH4OHB.

Pure waterC.

10-3 M HBrD.

Answer

Which of the following compounds is oxidised to prepare methyl ethyl ketone?43.

2-propanolA.

1-butanolB.

2-butanolC.

t-nutyl alcoholD.

Answer

Identify Z in the following series44.

C2H5OH →PBr3  X →alc. KOH Y →(ii) H2O, Heat(i) H2SO4 Z

CH2 = CH2A.

CH3-CH2OHB.

CH3-CH2-O-CH2-CH3C.

None of the aboveD.
Answer

Base catalysed aldol condensation occurs with45.
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benzaldehydeA.

2-methyl propionaldehydeB.

2, 2-dimethyl propionaldehydeC.

None of the aboveD.

Answer

Mark the correct statement.46.

Methylamine is slightly acidicA.

Methylamine is less basic than NH3B.

Methylamine is stronger base than NH3C.

Methylamine forms salt with alkaliesD.

Answer

Which of the following statements about vitamin B12 is incorrect?47.

It has a cobalt atom.A.

It also occurs in plants.B.

It is also present in rain water.C.

It is needed for human body in very small amounts.D.

Answer

Which of the following food-stuffs contains nitrogen?48.

CarbohydratesA.

fatsB.

ProteinsC.

None of theseD.

Answer

Glucose is obtained from49.

StarchA.

MolassesB.

Both (a) and (b)C.

None of theseD.

Answer

Which among the following represents an amide?50.

A.

B.

C.
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D.

Answer
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